MATH 253 \ Name: SoLTie s
Quiz 3 ik January 29, 2021

LY

Instructions: Five points total. Show all work for credit. GS: Scan two pages for your solutions.

1. (a) Find the vector-valued function r(t) that represents the curve of intersection between the
paraboloid z = 4y* + 22 and the cylinder z = 32. See figure. Give your answer in vector

form.
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(b) For the paraboloid z = 4y + 22, sketch the z-traces for the values of k = 0, 1,4 on the axes
below. Label the traces with their equations and include intercepts if relevant.
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2, Consider the vector-valued function

r(t) = (0, te*, cos?(2t) sin(2t)) .

Compute the value of the definite integral
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